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BIEIER: OX
45 58 68 78 8H 98 108 118 128 18 28 3A Rt
Wiz + B ET EGEFAEE 30 31 30 31 31 30 31 30 31 31 28 31 365
2R 3E B P 449 465 448 456 462 427 461 446 465 461 415 444 5399
I E B RS 719 744 718 735 741 688 740 716 744 740 667 714 8666
SE 5 {E(ppm) 0.047 0.050 0.043 0.028 0.025 0.025 0.024 0.022 0.022 0.028 0.036 0.041 0.033|
2R ] D 1 ¥ ] I D FE $4){iB (ppm) 0.049 0.053 0.046 0.032 0.029 0.027 0.028 0.024 0.022 0.028 0.036 0.043 0.035]
B D 1EFE EAY0.06ppmZE B X 1= B 3 16 24 10 1 0 2 0 0 0 0 0 5 58
B D 18R {EA%0.06ppmZ 4B X F-BE 5K 81 149 60 2 0 2 0 0 0 0 0 10 304
R0 1B EA0.12ppm L ED AL 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI D 1B fEAY0.12ppm L £ D BFRTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI D1 BEED RSB (ppm) 0.082 0.084 0.080 0.068 0.060 0.065 0.052 0.054 0.052 0.048 0.059 0.069 0.084
BRE D A &= 1 B E E D F 5 {B(ppm) 0.060 0.065 0.057 0.043 0.042 0.039 0.040 0.036 0.032 0.039 0.044 0.054 0.046]
ELIoEE BRERIE B3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 5 B 450 465 450 464 465 426 463 445 463 465 420 444 5420
72 B RS 720 744 720 743 744 687 742 715 742 744 672 714 8687
F #91E(ppm) 0.043 0.046 0.040 0.025 0.022 0.021 0.023 0.022 0.022 0.029 0.037 0.039 0.031
B D1 BEREED T E(ppm) 0.046 0.050 0.044 0.030 0.027 0.025 0.027 0.024 0.023 0.030 0.037 0.041 0.034
B D 1B {EA%0.06ppmZ B Z =B 8 20 8 1 0 1 0 0 0 0 0 2 40
B D 1R EA%0.06pomZ B A 1= B2 32 109 43 1 0 1 0 0 0 0 0 6 192)
B D 1B {EA%0.120pm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
R0 1B EAY0.12ppm L E D BERIE 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] I D B 7= 1B (ppm) 0.078 0.082 0.082 0.061 0.059 0.061 0.052 0.055 0.045 0.049 0.055 0.063 0.082]
BN B & | BEEIED T HE(ppm) 0.057 0.063 0.055 0.040 0.040 0.037 0.040 0.036 0.033 0.039 0.046 0.049 0.045)
#ILFER & E EGEFAEE 30 31 30 31 31 30 31 30 31 31 28 31 365
2R 8 3E B P 450 459 450 454 465 427 463 449 465 465 420 441 5408
I E B RS 720 730 720 733 744 688 742 719 744 744 672 711 8667
SE 5 {E(ppm) 0.043 0.045 0.037 0.025 0.022 0.021 0.024 0.024 0.024 0.031 0.038 0.044 0.032)
2R ] D 1 ¥ T I D FE $4){iB (ppm) 0.046 0.049 0.041 0.028 0.026 0.024 0.028 0.025 0.025 0.032 0.039 0.046 0.034]
B D185 E EAY0.06ppmZE B % 1= B 3 9 20 5 0 2 0 0 0 0 0 0 4 40
B D 18R {EA%0.06ppmZ 4B X F-BE 5K 31 96 25 0 2 0 0 0 0 0 0 27 181
R0 1B EAY0.12ppm L E D AL 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI D 1B fEA30.12ppm L £ D BERTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI D1 EEED RSB (ppm) 0.077 0.086 0.075 0.055 0.062 0.052 0.050 0.049 0.044 0.047 0.057 0.075 0.086)
BRE D A &= 1 B E E D F ) {B(ppm) 0.056 0.062 0.051 0.038 0.038 0.036 0.039 0.036 0.033 0.040 0.046 0.053 0.044]
XiR&t BRERIE B3 30 31 30 31 31 30 31 30 31 31 28 31 365
2R ] iR 5 B 450 465 450 464 465 430 463 449 465 464 420 441 5426
72 B RS 720 744 720 743 744 691 742 719 744 743 672 711 8693
F #91E(ppm) 0.045 0.047 0.043 0.027 0.024 0.025 0.024 0.023 0.023 0.030 0.036 0.042 0.032]
B D1 BEREED T {E(ppm) 0.049 0.052 0.046 0.031 0.028 0.029 0.028 0.025 0.025 0.031 0.037 0.044 0.035)
B D 1B {EA%0.06ppmZRBZ - B 12 21 9 0 0 0 0 0 0 0 0 3 45
B D 1R iEA%0.06pomZ B A 1= B2 53 123 67 0 0 0 0 0 0 0 0 15 258
B D 18R {EA%0.120pm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
R0 1B EAY0.12ppm L E D BERTE 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] I D B 7= {B (ppm) 0.078 0.086 0.075 0.056 0.060 0.057 0.053 0.048 0.050 0.050 0.058 0.069 0.086)
BRED B & | BEEIED T SE(ppm) 0.059 0.064 0.056 0.040 0.038 0.038 0.039 0.036 0.035 0.040 0.046 0.053 0.045)
RHEEH EGEFAEE 30 31 30 31 31 30 31 30 31 31 28 31 365]
2R 8 3E B P 450 464 445 464 465 429 461 449 464 465 420 439 5415
I 2 B RS 720 743 715 743 744 690 740 719 743 744 672 709 8682
S5 {E(ppm) 0.044 0.045 0.040 0.026 0.021 0.021 0.023 0.023 0.026 0.032 0.040 0.043 0.032)
2R ] D 1 ¥ T I D FE $4){iB (ppm) 0.047 0.050 0.044 0.030 0.025 0.025 0.027 0.026 0.027 0.033 0.040 0.046 0.035]
B D 1EFE EAHY0.06ppmZE R % 1= B 3k 9 21 8 0 0 0 0 1 0 0 0 9 48
RO 1B fE £Y0.06ppmZ 8 X T BRI 3K 54 104 58 0 0 0 0 2 0 0 0 36 254]




B D 18R {EA%0.120pm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
R0 1B EAY0.12ppm 2L E D EERTE 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] I D B 7= 1B (ppm) 0.082 0.079 0.086 0.056 0.052 0.055 0.055 0.061 0.052 0.049 0.057 0.077 0.086)
BE D B &= 1 BRE D F 1 {E(ppm) 0.059 0.063 0.054 0.040 0.036 0.034 0.040 0.038 0.036 0.040 0.046 0.055 0.045
EHER EGEFAEE 30 31 30 31 31 30 31 30 31 31 28 23 357
2R 3E B P 446 464 449 464 464 427 464 447 464 464 419 309 5281
8 7E B Rl 716 743 719 743 743 688 743 717 743 743 671 503 8472
15 fE(pm) 0.047 0.054 0.045 0.031 0.026 0.028 0.032 0.033 0.034 0.038 0.043 0.047 0.038]
2R ] D 1 ¥ T I D T $4){iB (ppm) 0.050 0.056 0.047 0.034 0.030 0.031 0.034 0.034 0.034 0.037 0.042 0.048 0.040)
B D 1EFE EAY0.06ppmZE B % 1= B 3k 12 24 9 2 0 1 0 0 0 0 0 3 51
B D 18R {EA%0.06ppmZ 4B X F- BRI 5K 58 159 54 3 0 5 0 0 0 0 0 23 302
R0 1B EAY0.12ppm L E D AL 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI 1 B fEAY0.12ppm L £ D BERTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1B E D & & B (ppm) 0.069 0.084 0.083 0.063 0.060 0.065 0.053 0.058 0.052 0.052 0.059 0.071 0.084
BRE D A &= 1 B E E D F ) {B(ppm) 0.058 0.065 0.055 0.042 0.040 0.040 0.043 0.041 0.040 0.042 0.047 0.054 0.047]
#E R SRET B ERIE B3 30 31 30 31 31 29 31 30 31 31 28 31 364
2R ] iR 5 B 449 464 448 464 464 419 464 447 463 464 418 443 5407
I 7E FE R 719 743 718 743 743 671 743 717 742 743 670 713 8665)
F 91 (ppm) 0.046 0.051 0.043 0.028 0.024 0.024 0.030 0.030 0.031 0.037 0.042 0.046 0.036)
BRED1BREE D T #5{B(ppm) 0.049 0.054 0.046 0.031 0.028 0.028 0.032 0.032 0.031 0.036 0.042 0.048 0.038]
BRI D 1B {EA%0.06ppmZ B Z - B 10 19 9 0 0 1 0 0 0 0 0 5 44
R D 1R EA%0.06pomZ B A 1= B2 48 136 47 0 0 4 0 0 0 0 0 32 267
B D 1B {EA%0.120pm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
R0 1B EAY0.12ppm L E D EERTE 0 0 0 0 0 0 0 0 0 0 0 0 0
2R ] D 1 B ] I D B 7= 1B (ppm) 0.071 0.083 0.083 0.056 0.060 0.064 0.051 0.055 0.051 0.049 0.060 0.072 0.083]
BRED B & | BEEIED T E(ppm) 0.058 0.063 0.055 0.040 0.038 0.037 0.042 0.040 0.038 0.042 0.047 0.054 0.046]
FETH EGEFAEE 30 31 30 31 31 30 31 30 31 31 28 31 365
2R 8 3E B P 449 462 449 464 464 433 464 447 463 464 419 443 5421
B 7E B Rl 719 741 719 743 743 694 743 717 742 743 671 713 8688|
15 fE(ppm) 0.041 0.045 0.040 0.025 0.021 0.021 0.022 0.024 0.025 0.029 0.037 0.039 0.031
2R ] D 1 B T I D T $4){iB (ppm) 0.044 0.048 0.042 0.027 0.024 0.025 0.026 0.025 0.025 0.030 0.038 0.042 0.033]
B D185 E EAY0.06ppmZE B % 1= B 3k 7 20 7 0 2 0 0 0 0 0 0 4 40
B D 18R {EA%0.06ppmZ 4B Z F-BE 5K 32 94 30 0 2 0 0 0 0 0 0 17 175)
R0 1B EAY0.12ppm L E D AL 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI 1B fEA30.12ppm L £ D BFRTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED 1B E D & & B(ppm) 0.069 0.085 0.077 0.053 0.063 0.059 0.050 0.054 0.051 0.047 0.055 0.068 0.085)
RE O A &5 1 B E E D F #){E(ppm) 0.056 0.061 0.053 0.035 0.036 0.036 0.037 0.036 0.034 0.039 0.046 0.052 0.043




